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WEST BENGAL ETATE UNIVERSITY
B.A. Honours Part-IT Examination, 2019

PHILOSOPHY

PAPER: PHIA-III

Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. e JF o KT ’2"7377'-7 e 1
Candidates should answer in their own words NI [ACGT ©IT IR ST *TT K
and adhere to the word limit as practicable. Bex 1

All symbols are of usual significance.

Answer Question No.1 and any five from the rest
S TR P O3 ) (I-CHIG #A5To verd Ted wie
1. Answer any five questions within 150 words each from the following: $x§=25
s @-@e w575 2w e wis eltefel SET Seo M W2
(a) What is the characteristic of knowledge proper according to Plato?
(2TBIR TS 2 W o734l {35 ¢
(b) Explain the criterion of truth as accepted by Descartes.
(PTG -(F S9! IR FTOyoIF N e Sl s

(c) What does Spinoza mean by the dict_ﬁm ‘Natura Naturata’? Is it identical with:
‘Natura Naturans’?

3z 29’ FeTe Potare i FRicares 2 «fb [ s epfor s e ¢
(d) Explain Spinoza’s conception of substance and attribute.
RATAISR Ty R ST Lol 1T S|
(e) What is pre-establish harmony according to Leibnitz?
AT ToRpiE 32 Aerrm & ¢

(f) What are the sources of ideas according to Locke? Distinguish after Locke
between simple and complex ideas.

A T GO T3 (5 9 760 ST A 7T @ TfbeT el ~H1<y fermeiel ey

(g) On what grounds does Berkeley reject the distinction between primary and
secondary qualities?

@i, @i e fofere aeie 727 @3k (Ml @16 e 2Ly SFRISPT TR 2
(h) What are the laws of association of ideas as propounded by Hume?

2o <ffe «aeia sz el & & ¢
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1) How does Kant distinguish between a-priori and a-posteriori judements?
g p p juag

1% PN “j02 e ¢ #faros e SRR Mg AL S0 9

() Why does Kant recognise space and time as a-priori intuitions?

TG (P (741 € I #f30 e o Srgea AT 9

Answer any five questions within 600 words each from the following 15x5 =175
RS -t 257 et Tea we ater S wwiie voo twa g
2, Explain Plato’s theory of forms or ideas. What are the objections of Aristotle 8+7

against Platonic theory of ideas?

CRTOR SR A FMNSG RN IR CABIR el red [erw wiaobsem wivfee R &
IS

3: Explain Descartes’ method of Universal doubt. Discuss in this connection 10+5
whether Descartes can properly be called a sceptic.

(TG AR 7T Amfel [em Sl s @3 e v & gad sl
FRHTAIA 74T T 9

4. Explain Spinoza’s theory of knowledge in detail. 15
FetTe iy fw i e

18 What are the characteristics of Leibnitz’s monads? How many kinds of monads 6+3+6
are recognised by him? How does Leibnitz explain the relationship between
monads?

wliRafnce for-simiam ey & ¢ O 37 e Be-viamiga sy folk s@w 2
foe-mimiqe e s fofR Rt i s ¢

6. What according to Locke are the different degrees of knowledge? Why does he 10+5
consider sensitive knowledge to be the lowest degree of knowledge?

TP FCACEA 2 :

7. On what grounds does Berkeley reject abstract ideas? Bring out the implication of 12+3
Berkeley’s rejection of abstract ideas.

I @I I&T il I RS GRS 487 I 9 IFEE G RS digeliaan
e Sl e e
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8.

10.

11.

2104

Explain the Humean distinction between ‘relations of idea’ and ‘matters of fact’.
What according to Hume is the ground of our reasoning concerning ‘matters of
fact’?

RO PR IR CRAPTIER T @R SR 3877 Wy AN it i
R8T 0o TR T8 FTHF AR ST fofe [ 9

What is scepticism? Can Hume be called a sceptic? Why is Hume called an
‘academic sceptic’?

FRHRI P A0 9 R 6 FRRRIR 3@ 2 9 ON WY TR WHRRAAD @ @Al
e

Distinguish after Kant between analytic and synthetic judgments. Examine this
distinction briefly.

BT TP S ROITT @ FRTETS 5T W0 AL N1 IReweo! @2 #Aefey Row
M

Discuss the main problem of Kant’s Critique of Pure Reason in detail.

157 “fele o Preg e -«3 3o eyt RsiieeiE wiest et

X

7+8

4-+6+5

10+5

15
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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-II Examination, 2019
PHILOSOPHY

PAPER: PHIA-IV

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. e FF FIE TG ‘2"7/%'»' [ 1
Candidates should answer in their own words KNIV (ST G TR TG AT
and adhere to the word limit as practicable. &7 !

All symbols are of usual significance.

Answer Question No. 1 and six more questions taking fwo from
each Group A, B and C

> e @3 e 3, 4 @39l (A 1+ e it 2wl eiw Tea wie
L Answer any five questions from the following: 2x5=10
fAsfeie @-coie #f5fe aivis Teg wies
(a) Symbolise the following:
(i) p is the necessary and sufficient condition of q.
p -3 e SR 2
(i) pifq
pfiq
(b) If p>~q=F, then determine the truth value of p=q
W po~q=F, WEE p = q -3 T [Nefige )
(c) What is meant by argument form? Give an example.
& P TS F @I 9 GF 0 Trizze we |

(d) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram:

e A o HPITe eam I SAbeEa T e Sl
If a nation is free, then it is prosperous.
3 @I o<l TR 27, O3 of TreAist &)
(e) State the rule of Universal Generalization.
I FIERe S@ i Srard Tl
(f) What is Indirect Proof? Explain with example.
AT Wi AE (S PICE 051 9 THIZATR P T |
(g) Give the form of Method of Residue.
RIBGEREICEAC SO R Y
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(h) Explain Addition Theorem of Calculating Probability.
FYRTS! SR QAR 3@l i weat

GROUP-A
Rent-s
2. (a) What do you mean by paradox of material implication? 3
Fgers elfsifer wivie-RualEe! w1e i @t 2
(b) Can we get a tautological proposition by denying a tautological proposition? 3
G Fo2 3] IRTCF (AR T [ F0LH) AT “ANSA A ¢

(c) Determine whether the following statement forms are tautologous, self- 3+3
contradictory or contingent by means of truth table.

%] WA AR T2 AR F Fosme), Fos et 7t wivifos o ff st
@ [po>>rl=l(~q>~p)>1]
(i) p={pv(pVv~9)}
(d) Use truth table to determine the validity or invalidity of the following argument: 3
AR AR FRaERe Jeha et at stawe! [ s

She can have many friends only if she respects them as individuals. If she
respects them as individuals, then she cannot expect them all to behave alike. She
does not have many friends. Therefore, she does not expect them.all to behave
alike.

i SR T8, AR GG T (1 oI T e s e T o i I A
FA T IR (1 GO S 0 M (@ TR GFZIFN W5 P | O AP I R
HOAR, (7 B! S FACI A1 (IR G BAIG FH |

3. (a) Construct formal proof of validity of the following arguments (Do not use C.P or 3x3
L

e el siwrere (3ot efsid wie (C.P A1 1P J32- 331 I3 =)

@ HvW)DB-M), MoP,~P/.~H

i) G/..Hv~H

(iii) If the first disjunct of a disjunction is true, then disjunction as a whole is

true. Therefore if both the first and second disjunct of the disjunction are
true, then the disjunction as a whole is true.

@3 f5 (3T 0w el w7 ey 27, ©0F el TR A e | HoIR
% e 60 2N ¢ BeR Rewnfd 7o) 21 o e RE T A 7Y T

(b) Prove the invalidity of the following arguments by the method of assigning truth 3x2

values:
FETE STl o foa R Fesie Ierefem sitee! e Fale
i) BoW)-(G>~YS) (i) Ko(L-M)L>oN)v~K

~B-~G)>(C-P) O>(Pv~N)

~W ~PvQ)-~Q

P Rv~P)v~M
- .Co~G % £% -
2
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4. (a) What is counter example? Explain with example.

TRIZAEPTR A4 VBB 17 |

(b) Use truth tree method to determine whether the following proposition is
consistent:

O “Harfee AR TCoa 5410 FRAfSs)ef foent Rvla wcate

A—->CB->C,-A-A—>-C

(¢) Determine whether the following statement is tautologous or not by using truth
tree method:

P &S =il Noa IF T T3y foa (ees
P29 —=>[g—>1)—>(p->1)]
(d) Use truth tree method to test the validity of the following:

PR Aafos vl feaie IfEHa (et Ko s

Moriarty will escape unless Holmes acts. We shall rely on Watson only if Holmes
does not act. Therefore, if Holmes does not act, Moriarty will escape unless we
rely on Watson.

i b vera 3 1 e i I 1 SR SBAT Boig fIed A0S YiR, (59
W RIS e F FCH 1 F[GIR IR @ & [ I, OF IR @i v 7 w1 =@
GG Goiz frea f71

5. (a) Explain the method of Conditional Proof with an example.
@6 BHIRACE Y AR @M S 71 T |
(b) Use the method of Indirect Proof to prove the validity of the following argument:
ST e siafes ARy FefRe fehe @eet eme st
M-N)>O
M
M>SN
-0
(c) Prove the validity of the following argument by the method of Conditional Proof:
2R e Amfer MR e yieba et e we:
A>(B>0C)
B> (C>oD)
~AD(B>D)

(d) Use the method of Indirect Proof to prove that the following statement is
tautologous.

FCATF 2Nl & (o A 2N 3 @ REfie el geswer
(ADB)v(~A>0O)
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GROUP-B
e-4

6. Test the validity of the following arguments by Venn diagram indicating the 5x3 =15
mood and figure of each of them:

2ol 3% e iz Bra 3 fRmfeiie el confougs s twet [t weis
(a) All men are liable to error; saints being men are liable to error.
1 MR SRR TSI ST ; @ A 8V I8 TN Tl |
(b) All bridge players are people. All people think. So all bridge players think.
et Q16 (HCETIIGE W | 97 [aR Heriet | o1 73 Jier (Leeaieg e

(¢) This syllogism is valid, for all invalid syllogisms commit an illicit process but this
argument commits no illicit process.

@3 =af 3, Piael e ey Wica SRy efEE w0, [5% @ ibee @in sty et
Ngof

7. (a) What is meant by ‘Existential Import’ of propositions supposing that I and O 3+6
propositions have existential import, how much of the Traditional Square of
apposition will remain?

TR G Wlesfd 770 6 (@I 2 BEG [ @R O ITAR ASHITP ©lestd wiirg
Rt 0T TS R TGUHITR TOpT SRMAE P ?

(b) Give Boolean interpretation of the following sentences and represent them in ~ 2x3=6
Venn diagram:

fsfRe el 38 e e e coqbeg I St
(i) Everything is beautiful
TR T
(i) Some kind men are not wise
I I wRe] e w3 i
(iii) Some non-S are P.
R EEI-SZTP |

8. (a) Explain with example the principle of Existential Generalisation. 3

AGE FANFIFACER I riggerig It Fe
(b) Construct formal proof of validity of the following: 4x3 =12
fmfaie Jeefm wimmers taae! ¢ s
(i) (x)(Gx>Ex)
(x) (Wx o~ Sx)
(3x) (Wx -~ Ex)
o (3x) (~ Gx -~ Sx)
(i) (x)[Ax > (Bx-Cx)]
(x) (Cx o Dx)
~(x) [(Ax v Cx) o Dx]

(ili) Bananas and Grapes are fruits. Fruits are nourishing. Therefore, bananas are
nourishing.

T TR S T T | T 2 S| | [OAR ol = 2ffee
4
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9. (a) Symbolise the following sentences by using quantifiers, variables etc: 2x3=6
ffeiRe arme e wivs, Tfearrs Toriva MR aeiwRie Fre
(i) Diana was not happy
A R
(ii) Only lawyers and politicians are members
FTTG TS @ GO 7S]
(iii) There are metallic ornaments.
AIgfifEfe oAl =iy | |
(b) Determine the invalidity of the following arguments by the method of truth value ~ 3x3=9
assignment:

SO SRR wil e yeelem stayet e FaEtie

(i) No diplomats are extremists. Some fanatics are extremists. Therefore some
diplomats are fanatics.

(@ oA T G| FIF @ 6 JE 27 57931 Tod, (@I @
oo 7 i
(1) x)[(FxvS8x)>(CxvRx)]
(x)[Dx o (Sx v Rx)]
(x) (Fx =Cx)
(3x) Dx
S (3x)(Sx-Rx)
(iii) (x) (Lx>~Px)
(3x) (Px-0Ox)
- (x) (Ox>~Lx)

GROUP-C
fotat-at
10.  Critically discuss Mill’s Method of Agreement and Difference. 15
TR S-S (e Siel ¢ [owE Fet
11.  What is hypothesis? What are the criteria used in judging the worth of a 5+10

hypothesis?
2% A 2 (@I (I NAMS 2FFe G ok 2 Srzzemz I 1)

12.  Write short notes on the following: 8+7

fsfeie Rrnefem S wFEeg Bl e

(i) Necessary and sufficient condition of an event.
o SRS @ i =€)

(ii) Mill’s Method of Concomitant Variation.

fita AR o= fe |
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13. Calculate the probability of the following cases: 5x3=15
fasfeie craefim sTerrel fRdy e

(a) If three balls are selected at random from an urn containing 5 red, 10 white and
15 blue balls, what is the probability that they will all be of the same colour —

(i) if each ball is replaced before the next ball is drawn,

(ii) if the balls selected are not replaced?

<3 2licg ¢f6 =1, Sofb it @k sefb Tet 3= wivm) <Nl e fonifE <1 o=t foce
foiaR et ) TR TeRyel T 3fi

(i) COTT & (F<© (e Y,

(ii) T ol 36T (Fa® (R A W 2

(b) What is the probability of getting at least one even number in rolling three dice
once?

oAb are 4o aai v e sree Gaiore @Iy KT o TEITTe! T 9

(c) What is the probability of not-getting a king in three successive draws of cards
from a deck of cards?

b ST #A7ICT (I FomRIg Wit BieteT fomaiag e O Fl-N 67 TEITo! I 9
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